ALUMINUM RETRACTABLE
LOCKING TONNEAU COVER

INSTALLATION INSTRUCTIONS

CONTENTS

(1) Tonneau Cover w/ 2 Keys
(1) LH Side Rail

(1) RH Side Rail

(4) Clamp Sets

(1) Rear Cross Bar

(1) Bulkhead Gasket
(2) Rear Drain Tubes w/ Fittings
(2) Front Drain Tubes
(8) M8 x 90mm Bolts
(12) M8 x 25mm Bolts
(16) M8 Flat Washers
(4) M8 Lock Nuts

(4) M8 Rubber Caps
(4) M6 x 20mm Torx Bolts
(4) M6 x 10mm Torx Bolts
(6) M6 Flat Washers

(2) M6 Lock Nuts

(1) Torx Key/Wrench

(1) Grease Tube

TOOLS REQUIRED

10mm, 14mm Sockets
Ratchet

T-30 Security Torx (Provided)
8mm Allen Key/Socket



STEP1

Lay out and identify all components. Place the tonneau cover assembly and the (2) side rails on a
suitable working surface for assembly. Begin by unlatching the tonneau cover by pressing the
release button on both sides.

Note: Tonneau cover assembly will take place off of the vehicle.

i 4

i)
(1) M6 x 20mm Bolt % (1) M6 x 20mm Bolt
(2) M6 Flat Washers | | (1) M6 Flat Washer

(1) M6 Lock Nut 1

STEP 2

Place the side rails to the tonneau cover assembly. Unlatch the tonneau cover by pressing the
release button on each side. Slightly extend the tonneau cover, and insert the tonneau cover tracks
into the side rail. Once properly fitted, bolt the side rail to the tonneau cover using (2) M6 x 20mm
bolts, (3) M6 flat washers, and (1) M6 lock nut.

Repeat this step for the remaining side rail.



STEP 3

Install the upper cover panel to the tonneau cover assembly using (4) M6 x 10mm Torx bolts.

STEP 4

Install the (1) bulkhead gasket to the truck bed bulkhead.



STEP S

Install the (1) rear cross bar to the rear most portion of the side rails This will assist in alignment
to the vehicle.

With a helper, lift the tonneau cover assembly onto the vehicle bed. Ensure the front weather-
stripping sits flush to the vehicle bulkhead. Center the tonneau cover to the vehicle bed.

STEP 6

With the tonneau cover centered, use a 8mm Allen key to turn the studs on each corner of the
tonneau cover rails. Allow the stud to just touch the vehicle bed rail. The stud distance will be similar
on each side with the tonneau cover properly aligned.



STEP 7 .' : SideRil
(BEDRAIL | - | 1 8 B
MOUNTING) | ; e . /

Bed Rail Vehicle: Install the top portion of the clamp into the side rail using (1) M8 x 25mm bolt,
(2) M8 flat washers, and (1) M8 lock nut per clamp through the pre-drilled side rail holes. Then,
secure the bottom of the clamp to the previously installed top using (1) M8 x 90mm bolt and (1)
M8 flat washer per clamp. Repeat for all corners of the tonneau cover.

Thread (1) M8 x 90mm bolt through the bottom of the clamp. Once the threads are visible, place
(1) rubber cap onto the end. This bolt will be used to allow for side rail vertical adjustment.

STEP8 =

(UTILITY RAIL [

MOUNTING) »
[

Utility Rail Vehicles: Fit the included threaded brackets into the vehicle utility rail. Then, secure the
tonneau side rail to the threaded inserts using (3) M8 bolts and (3) M8 flat washers per bracket.



STEP9

Adjust the side rails to fit flush to the bed sides. Once adjusted, tighten the clamps securing the
side rails to the bed side until secure. Remove the rear cross bar once all clamps are tight.

STEP 10

Install the front drain tube fittings into the bottom of the tonneau cover housing. Secure using an
adjustable wrench, do not over tighten. Feed the drain tube into the tonneau cover housing approxi-
mately 17-1.5”. Secure the drain tube into place using the threaded cap. Route the cap drain tube
towards the grommet at the bottom of the bed. Use a drill to open a hole in the grommet, or remove
grommet and feed the tube through.

Repeat this step for the opposite side of the tonneau cover housing.



STEP 11

Install the rear drain tube to the side rail using an adjustable wrench, but do not over tighten. Feed
the drain tube into the side rail approximately 1”-1.5”. Secure the drain tube into place using the
threaded cap. Route the cap drain tube through a suitable hole in the side of the bed.

STEP 12

To store: Retract the tonneau cover to the desired distance, and engage the tonneau cover latches.

Installation is now complete.



	Barricade - Aluminum Retractable Locking Tonneau Cover-01
	Barricade - Aluminum Retractable Locking Tonneau Cover-02
	Barricade - Aluminum Retractable Locking Tonneau Cover-03
	Barricade - Aluminum Retractable Locking Tonneau Cover-04
	Barricade - Aluminum Retractable Locking Tonneau Cover-05
	Barricade - Aluminum Retractable Locking Tonneau Cover-06
	Barricade - Aluminum Retractable Locking Tonneau Cover-07

